N3CS20 Practice Set 17

Instructions: Answer each question on loose leaf, quad-ruled (graph paper), headed properly and written in lead-graphite.
Remember to fold paper along the center, work exercises in order top to bottom, left column then right column. Staple multiple
pages

1.

10.

11.

12.

What new topic did we engage last week? Provide examples and non-examples.
How does determining if a coordinate satisfies an equation relate to writing an equation of a line given two points
on the line?
How could you write the equation of a line between two points in slope-intercept form without using the slope
formula, m = BTN ? Justify your argument with evidence.

X =X
Write the following equations in slope intercept form, and graph them on the same coordinate plane.
—-3x+2y=2,2x+3y=6
a. Do the lines intersect? If so, what is the coordinate of their intersection?
Write the equation of the line that passes through the points (—1,—-4),(2,0).

You have now derived the following formulae: y =mx, y=mx+b, and now (y—y,)=m(x—x,); which
equation connects all three of these formulae? Justify your argument with evidence.
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You want to enclose a square in your back yard with a fence that’s 500sq ft, but you only want to use whole
number length sides. What’s the smallest perimeter your square can be? Justify your argument with evidence.
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Peanuts (Ib), x 2 4 6 8
Cost (8), y 9 18 27 ag

17. The following is the aircraft Energy-Manuverability Theory formula of excess energy, P.:

T-D
P = V(?] where V = speed, T = thrust, D = drag, and W = weight. Solve this equation for (7' — D)in

terms of P,V,and W ,i.e., (I — D)is on one side of the equation, and everything else is on the other!



